PRACTICE 1C

1.

What is the value of the digit 8 in each of the following?
(a) 7892 (b) 3468  (c) 8005  (d) 7081

What does each digit in 5629 stand for? I

(a) In 6243, the digit [ is in the tens place.
Its value is .

(b) In 5029, the digit B is in the hundreds place.
Ilts value is .

Write the next three numbers for each of the following
number patterns.

(@) 2007, 2008, 2009, . . W
) 5612, 5622, 5632, Il N B
() 1800, 1900, 2000, ., H B
(d) 4056, 5056, 6056, I, . W

Complete the following number patterns.
(a) 997, 998, 999, W

(b) 2008, B, 2010, 2011

(c) 5760, 5770, [, 5790

(d) 4800, 4900, B, 5100

(e) 3040, BN, 5040, 6040

Complete the following number patterns.
(a) B, 5400, 5401, 5402
(b) 3420, BN, 3620, 3720
(c) 4350, 3350, M, 1350
(d) 8160, 7160, 6160,
(e) 5722, 5712, 5702,
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